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B
PopmMmynbl npuBeaeHUA

1. 3anucbiBalo TOUYKY Yyepes y3510BYHO. \
2. [poBOXY CTpPEsiKy OT Y3r5I0BOU TOYKMU, +
onpepensi YeTBepThb. -

3. CTaBnio 3HaK ucxogHou (pyHKUUU B 3TOU
YyeTBEPTMW.

4. MeHs0 (pyHKUMIO HA KOPYHKUUIO ANnA
BepTUKalibHbIX Y3JTOBbIX TOYEeK.

5. [uuwy oTBerT.

Ha Ha4yano




" A
[MpocTenune TpuroHoMmeTpuYecKme ypaBHeHUs

= SiNX=m x=(-1)"arcsinm+ 7n,n £
m COSX=m x=trarccosm+2 m,n &£
n fgX=m x=arctgm+ 7n,n cZ

Ha Ha4vano




DopMyJIbI TPUTOHOMETPHUH

sin’ x +cos? x = 1

tgx =

ctgxetgx =1
1+tg?x=

ctgx = cosx
SIN X
1+ctg?x= 1

. 2
SIN X




